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Topic:- Child Development & Pedagogy (CDP)

1) The distribution of intelligence is not among all human beings./ Tt 'Flﬂuﬁ & aaﬁl', g@ Cal
faazor T8 31

1. Moderate / HHH
2. Equal / JHIA

3. Appropriate / SYYdd
4. Same / Uh aﬂT

Correct Answer :-

o Equal / HHIT

2) The primary focus of a formative Assessment for learning should be: / 3{TRRTH & foe e uRfie
ipe BT WA <0 g1 A1fee:

1. checking the classroom presence of the child / g B Gl | IufRyfa ot Gﬁ%{ DT
2. checking memorizing skills / THXUT fed PINS B S HRAT
3. help in improving writing skills / G Al Bl ﬁw T Agg oAl

4, understanding the gaps in learning / ST H 3iaRTd B NEERI

Correct Answer :-

« understanding the gaps in learning / ST | SiaRTd P BEERI

3) Mohan is a 13-year-old 9t class student with a mental age of 16. What

type of child is he based on his IQ scores? / 'Fﬁﬁ 13 aﬁqﬁé’fﬁ&nmw%, et Al 3116
21 98 3UA gfS TR & YR R {59 yoR &1 3= 32

1. Imbecile /H:@ctﬂtl?

2. Genius/?lﬁ‘l-ﬂaﬁ

3. Above average / ATIT IR
4. Superior /aﬁg

Correct Answer :-



« Superior /aﬁg

4) What is the Freudian stage of psychosexual development in which children are toilet trained known as? /

ﬂﬁ?ﬁwmﬁm%mﬁwwm%ﬁwﬁﬁaﬁ&ﬁa%ﬁmmﬁm
ST 82

1. Latency / 3{oTaadTaRT (Tie )
2. Phallic / oI TeTTaRAT (Wfeetan)

3. Oral / JETART (3fIRe)
4. Anal / T[GTGRIT (T)

Correct Answer :-

« Anal / TJQIARIT (UcT)

5) What is Progressive Education? / yrfasiia ﬁT&‘IT T %?

1. It has standardized testing / sﬂﬁ Wﬁ tlﬂ&‘l'UT 33[?‘” %l

2. It is Learning by doing / S0 Bd gU R (@f a8 g5) BT ]
3. It is data-driven learning / ST Sel-3eTRa fram g g1

4. 1t has standards-based curriculum / STH HTAH] U THYTRT UTeThH BT o

Correct Answer :-

o Itis Learning by doing/sﬂﬁwgﬁf STy (ﬂﬁﬂaﬁm EPIHT%I

6) is called maturation. / & gigedr Dl SIldl %I
1. Family intervention / UTﬁHTW gweﬁu

2. A change due to cultural influences / TP THTAT & HRUT T URA

3. Natural biological development / UTa Sifdes faemT

4. Change due to environmental pressures / tl'q'hTUﬂU a‘m?:ﬁ & HRUT tlﬁa?h

Correct Answer :-

« Natural biological development / Wﬁ?ﬁ Sfaew faswma

7) study is applied to study in which some of the individuals have been measured on at least two
successive occasions / ST B AN HIA P o0 sreaa foran oimar 8, o @ 5o
HfFaal B U A $U & TAR GERT IR JTUT 14T 21

1. Extended Longitudinal Method /ﬁm Hﬂ%ﬁg@
2. Longitudinal growth/ &lﬁﬁﬁq%

3. Cross Longitudinal Method/ 19 \’rﬂ"-ﬂ"'ﬁ'q fapr

4. Mixed longitudinal/ farfsra &la%‘a:f



Correct Answer :-

« Mixed longitudinal/ fH3@ &ﬂ%‘a—‘f

8) The main objective of ADIP scheme is to provide to persons with locomotor disability. /Qﬁéﬂéﬂ

T T YT IE Y, AP HICR G ad AR 1 UM AT 2|
1. Disability certificate / feiTTar yHTorA

2. Employment / CUSIEY

3. Education / fR1&fT

4. Aids and Appliances / g% 3R JUHRT

Correct Answer :-

« Aids and Appliances / S8 3R JUBT

9) The three major themes in Vygotsky’s Social Development Theory are: / amﬁ?\qaﬁ & qHToS
faeT frgia ¥ 9 yge fawa §:
1. Cognitive Apprenticeship, Social Interaction and Reciprocal Determinism. / ST ® QﬁT@gl‘Tﬂ RIGISED

JeHITar 3R URERe RuRuae

2. Cognitive Apprenticeship, Legitimate Peripheral Participation, The Zone of Proximal Development. /

TS URRregar, a9 uivefig yriier, geiuey faem &1 &=
3. Reciprocal Determinism, Reward and Punishment, Classical Conditioning. / Wﬁﬂw EhT\‘TIB:[

3R ¢S, AR 3o (SRTRIeba e i)

4. Social Interaction, The Zone of Proximal Development, The More Knowledgeable Other. / BICISEY
HEHTITAT, THITRY faehT 1 &3, 3= 31 JH U=

Correct Answer :-

« Social Interaction, The Zone of Proximal Development, The More Knowledgeable Other. / BICISEY
FEHTIIAT, THIURY fahT 1 &7, 31 31T J U=

10) Ability grouping is a kind of segregation of the to provide greater opportunities of interaction

and stimulation. / faaTR faw=f ok STV & FoTR AW Ye™ FA & 1T & Tgg, Lo
TSP YR BT JUFHI 3 |

1. Disadvantaged / dferd
2. Normal / 9TH]

3. Backward / ugygdf

4. Gifted / UfTHTET

Correct Answer :-

. Gifted / UfaHTE



Language development in children follows the Principle of / g1 | U &1 faerg < Rrgia & siavta grar

1. Integration / TP D]

2. Uniform pattern / b= Yo

3. Continuity / IBEGRGI

4. Individual differences / TTd FHZdT

Correct Answer :-

o Uniform pattern / Ychg T

12) Direct method is also known as : / Ud&l fafa =t ER KR # oft ST STar %:
1. Direct approach / Y& P

2. Inductional approach / IR DI

3. Natural method / EI'@"I%IEF fafy

4. Indirect approach / &l VB0

Correct Answer :-

» Natural method / Elm fafdr

13) In collaborative learning, it is better that the students go through i '\q?'tﬁ‘ﬂ 3R ﬁ:, qg a?Tﬂ' % &
B & HIHH 9 STg |

1. Self-assessment / ¥dd: 3T

2. Formative assessment / XTI 3{{h
3. Peer assessment /Wzﬂ 3o
4. Summative assessment / NS 3ha

Correct Answer :-

o Peer assessment / Tt s a

14) Rating scales are used to measure / A & ﬁﬂ;f %4 Ay Ae (%%T W) BT ITANT
farsmar 31

1. Intelligence / g@

2. Attitudes / \3'|ﬁ-|'ql%f

3. Achievement / Iudfss
4. Skills / DRI

Correct Answer :-

o Attitudes / aﬁ-fqﬁf



15) Which of the following disorders is caused by an extra twenty-first chromosome? Fafafaa g I s ar

foR te sifafte soiaa U & FRUTET &2

1. Phenylketonuria / Wﬂﬂh—cﬂ

2. Down syndrome / 813 RigiH

3. Turner’s syndrome / X ®T RIS

4. Sickle cell anemia / GRICIT PITRTeRT SRaTdT (bt Tl THITHAT)

Correct Answer :-

+ Down syndrome / ST3+ ﬁl@ﬁ

16) Which of the following will occur if the stimuli of the first task is greater in similarity in the second task?/

frfafaa & 3w g afe vsd w1 &Y Ste, g o F wuar @ &if¥e 32
1. No transfer will occur / g H} RITAIRUT 781 81|

2. Extent of transfer will be minimum / RITFTARUT &7 AR gATH GRTT|

3. Extent of transfer will be less / SITTRUT BT fa¥dR &H GHTT|

4. Extent of transfer will be greater / RIFTIRUI BT AR 3Hfees I

Correct Answer :-

« Extent of transfer will be greater / RITATARUT BT fowR affd® 6 1

17) Which of the following statements best defines motivation? Fafafaad s PI-IT HYT U0 P 3T
aXE ufeuTia wvar g2

1. Internal state of an individual that arouses, directs, and maintains behaviour./ ﬁﬂ:ﬂ ajl'ﬁf ﬁ 3ﬂ?|ﬂ_0|'7 @lﬁf \_l‘h
IER 1 JIford Bl &, (SR Bell & SR 1T 3@l 5|

2. State of one’s emotional strength to respond to difficult situation. / e gRfRUf &1 S1a1e aﬁ & ﬁfﬂ;! Th
UTa-Td D fad o1 fRUfd|

3. One’s ability to demonstrate discipline. / STIRITHT TR B Y &mar
4. One’s ability to do a task quickly and neatly. ) Tt B Y STec) 3R 3T AR Y B B &HdT

Correct Answer :-

o Internal state of an individual that arouses, directs, and maintains behaviour./ W aﬂ% ﬁ &HHW @lﬁf Gﬁ
FIER B IJalord bRall &, I B g SR FAIY & 5

18) Which of the following is not characteristic of a relational learning style? / fafafaad 9 Cack:| Udh

e uTere JftrT Aedt A frdroar 781 22

1. Sequential thinking / W BIES

2. Perception of information as part of a whole / F{Uf CARRSE R DGkl P YRUT
3. Intuitive learning / TS ST gard STETH

4. Improvisation / T[T T dTeblieidh TR



Correct Answer :-

« Sequential thinking / &W BIES

19) Which of the following teaches parents a range of techniques for controlling and managing their children's

symptoms, especially with children diagnosed with conduct disorder? / ﬁ'ﬂ'm ﬁ' ﬁ ?ﬁ? ?ﬂ' ?R‘tﬂ, 'FI'I?IT-ﬁ_dT
I 3T gl & AN DI T B 3R yafla #A & forg & ot 8 s s= faRlw = o &
TRV RAPR (Fedex fHaiisy) A fifzasa e

1. Parent training programmes / ai‘c' aﬁ"T 1;|3l";|'|'1-_\zf

2. Functional Family therapy / W tlﬁ?ﬂ_{ w
3. Systematic family therapy / JUITCITd Thiaredt 2R
4. Play therapy / o U

Correct Answer :-

« Parent training programmes / e éﬂﬁ‘ T

20) What among these are not personality traits?/ 37{& T T AfRIT TEIT qﬁ%"
1. Thinking-feeling/ foaR- HraT

2. Judging-perceiving / STH--FHSHAT

3. Sensation-intuition./ HAGT- 3fc: U=

4. height-color / P G-I

Correct Answer :-
« height-color / G-I

21) What is a rule that always leads to a solution if used correctly called? / 3 frau = @ Dl SIldl % il
TURM TS HHTYUTH 141 ¢ afe STqBT Tl &1 & I foan w2

1. Heuristic / &d: NY (@W)
2. Algorithm / Qaii”#m

3. Information processing / AT TRRHROT

4, Stereotype / Fm (ﬁﬁthagq)
Correct Answer :-

o Algorithm / U@ IIES2]

22) What type of attention is displayed when a child focuses all his attention on the task at hand, ignoring other
information? / TS P13 =T SIUT YRT ST U BT TR Hisd HeaT 8, 3R 3= Jar3ii &1 st
T 3, A frd TR &1 sraur velkia gar a2

1. Selective attention / IATHD SHIYUTH
2. Simultaneous attention / THBT® ST



3. Divided attention / f[AHIT @YU
4. General attention / FTHIST {dYUTT

Correct Answer :-

« Selective attention / JYIHD dYTT

23) There is an addition of information to the existing information in learning./ S o

el STHSRI & fore ue sifaf¥ed e Rl 81
1. Sporadic / f&§cge

2. Spiral / I

3. Linear / X%

4. Disjunctive / TGNt

Correct Answer :-

o Spiral / gftfa

24) Who among the following did not propose a trait theory of personality? /

Prafifed § 9 o aftaa o1 @ kv Rigid @ 2R Teardq 98 fsar?
1. Hans Eysenk / 89 39

2. Raymond Cattell / XHS dhed

3. Albert Bandura / 3/GSC SUGRT

4. Gordon Allport / TTe STAUE

Correct Answer :-

« Albert Bandura / {8 a:I'U@?T

25) An individual achieves the masculine or feminine social role during ./ QH?EEI'%[

& SR URY T AT GTATRIS YAt UTed Hea 2 |
1. Childhood / ST (JT3cSgS)

2. Adolescence / frRRTaRAT

3. Late Childhood / U%d 90 (T A3cegs)

4. Infancy / =19

Correct Answer :-

. Adolescence / fHRIRTGRT

26) Meta components, performance components and knowledge acquisition components are categories of:/ AaT Ucdh,

SR Ued iR I Ui ues fr= & @ fraa 3fomi &



1. Tripartite Theory/ Aueita Rigid

2. Triarchic Theory/ [ECALIR] ﬁl?‘iﬂa

3. Allport’s Theory/ e &1 Rigia
4. Eysenck’s Theory/ ST & Rl

Correct Answer :-

 Triarchic Theory/ IEcANIE I%I@ia

27) CANCELLED

Which of the following is not a use of an intelligence test? / ﬁ?ﬁl’@ﬂﬁ@ﬁﬁ@ﬁ&ﬂﬁmﬂ
TR gar 82

1. Selection of students for scholarships / maqﬁ%ﬁﬂzmsﬁwam

2. Evaluation of teacher’s performance / ﬁTW%WWW

3. Grading of a student /W@"Haﬁa'%ﬂ

4. Predicting a student’s success / WW@WWWW

Correct Answer :-

« Grading of a student /W@'ﬂﬁ ST

28) Skinner advocated that learning was more likely to occur when/ PR A aTaa ot fb Wwq & GuaT
a9 iU gidt 8 o1d

1. Explaining public events or observable behavior/ TTdST=1dh G-I IT SITAH1T AR B TR HAT|

2. Observation of a behavior is followed by modelling/ U8 SIIER T 3faciich Ufdgsl gRT far Sran 3|
3. Behavior becomes a reflex response to stimulus/ STTER ol & foTT Teb ufaare ufaferar s Srar g
4, Behavior is reinforced with a reward or punishment/ GIdGIR Gl Udh gH g1 golT & 1Y gaferd fHar Sirdn % |

Correct Answer :-

« Behavior is reinforced with a reward or punishment/ JdgIR Ca Udh SATH g7 oIl & 1Y yaferd fHar Srdn % |

29) Which one of the following methods is used to study the behavior of an individual in its totality? /

fFrafafaa # @ feg faftr &1 Sy fadt safdg & uagR &1 39s! IHYaT § ey #31 & fau
o wrar 82

1. Observation Method / 3faciies=1 fafer
2. Experimental Method/ TANT&S fafd
3. Survey Method/ Sa&ur fafy

4. Case study Method/ &9 Tl fafy

Correct Answer :-



. Case study Method/ &4 &l fafd

30) Which of the following is a projective technique to assess the personality? / ﬁﬂﬁ'@ﬁ ﬁ '\ﬁ ﬁq '\‘ﬂ

WYY A1 AfHRIT BT BT B & fo¢ gl g 2
1. Rorschach Ink blot / IR WTa! BT YT (D SH&IC)
2. Interview / HT&TP R

3. Questionnaire /IHTIC!

4. Observation / a&‘lUT

Correct Answer :-

« Rorschach Ink blot / T et BT YT (ﬂw EWVTE’)

Topic:- General Hindi (L1GH)

1) VTH A PR @1 o,

AR YT dTen 1A I TEii |

ATHR TER TR A, i I8 R0 U |
fareRTam & o et &, Tiifde oftem =)

ATHL A GIAVT YR, FAROT 4T @Rt |

YTg ATl AR ur], i arat TRt

R gre ansR A, e deid arer|

fe=TaT § 99 =19, Hig gRell are|

S, a1 e wome e Rrg g

AT 37 AT URY, 6= Pyl WS |

et 7 UY ST, et STHATSH I A Ri |

R T Y AR AR, fRast gon srefRT

ST UL B U e YD S T U=H $T Ik 9a15¢|
T e d g R A e e
1. SRTH BI

2. U B

3. eI &I

4, TaTd B

Correct Answer :-



TTH TG aN WY Ad IS G301 U |
fereRTa= & ot el &, g eftem Ry )
AP § GRHVT UTRY, GARYT U] @t |
T WTelt SRR o, <] et at
R PTe HanaR e, Td deidl Jrer|
fafgRTa & 99 9R1Q, g R A
S, a1 wew quiTd g farg g e
TGN I G0 U, UBR S A |
el I WY TRHT, SN STHATSH 3T AR |
R 1 Y FARER AR, fRas) gun erefiRy|
I TR B! U@ 19 IS 91 aTd U $T I« gaTse|
U= <SR Mg T FT AR 2

1. Had AR eI

2. Had T Giax

3. 90 q IS Tel

4. R B 3R & Fihr g

Correct Answer :-

o IR BB 3R I Wiepx g

3) W M A6 @l o,

ARYT v w1 a1 @S|

TP TG, IR AR, Fd 3 0T U |

fareRTam & o et &, Tiifde oftem =)

ATHL B GIAVT YR, FAROT UTR] @R |

YT YTt ST uRay, <fi arat avdt

AR FiTe HansR die, Td duid Jrer|

fSeRTa & 9 =R, Mg gl are|

&1, ST Hgd qurd o e IRg et

HIIRAT I G URY, TeX T A5 |

et 1 UY GRAOT, At STHATSH I A Ri |

R 3 9y AR AR, fRast gon sk

ST UL B! U 1 U W a1 U= $T Ik 9a1g¢|
TR “GHROT U WA | Haf= ST w1 324 872
1. STH A PIS T8

2. HWT T YR N1 ol T

3. IR ARA T g1 S

4. gARAAwd9gd e



Correct Answer :-

« P BT GARA 1T oid @

4) WTH B ATH @ o,

AR YT aren 1A a1 IEiSh |

TP TG, IR A, 4 3 0T Uy |

figRTa & oo Telt &, Tifde offem )

B H GRHVT UTRY, GARYT U @Rt |

YTg el AT T, <fi] et wRe

R PTe HanaR We, Ta duidt qrer|

faeRTaa ® 99 =19, Wie= gRel aran|

ST, ST Hed urd for fara g amsh

HIIAT I G UG, TeX S| A5 |

et e Uy gwor, St STHATSH /1 dRi |

R I Y FARER AR, fRas) gon srefiRT|

SUYe LI F1 UGHR ) IR 9 91 U= $T I« qa13¢l
URA: W7 o= B AT WRT HOT A HgT 3N Ba g3 37 FI fameht st 2
1. 30 &RER H

2. 31 A DI IGAT I W

3. HRIP NW

4. GRPT H Fav-Fa

Correct Answer :-

o 3MTE A DI AT I R

5) T G A1 @1 S,

FRUR aTer w1 T IEte |

TP TG, a1 AR, Fd IS 0T U |
fareRTam & o el &, Tiifde oftem =)
ATHL A GIAVT YR, AT U @R |
YTg ATl AR ur], i arat TRt
R gre faner T, e deid arer|
fe=Ta & 99 =R, Hig gRell are|
&1, ST e d qund fae faa g et
AT 37 AT URY, 6= Py 1S |
et 7 UY GRHT, At STHATSH /7 o Ri |
R I 9y AR AR, fRast gon sy
ST UL B UgH 1 U 1 a1 U=H $T Ik 9a15¢|



U=H: $T Dt Yicd & TRT I TR T T4 0P B dIR 82
1. Had ATHR

2. HId TH

3. TR AR AGR a1

4. 3THIA DI ol

Correct Answer :-

o THR 3R TR gl

6) TH WM ATHR @l oft,

AR YT aren 1A 9T IEiSh |

TP G, IR A 4 3 01 Uy |

faieRTa & o et &, Tiifde oftem |

ATHE H GRHVT UTRY, GARYT U @Rt |

YT YTl ST uRe, <fi arat wvedt

R PTe HanaR e, Ta duidt qrer|

faiewres § 97 =R1q, T gRelt g

G, S Hed 9unTd e frm IRg e

HIAT I G UIRY, TeX S| A5 |

et e oY Ewor, St STHATSH /1 A Ri |

RT3 Y ARR AR, fRas) gon srefiRT|

SIS U B U@ -1 U 914 a1al Y9 FT I& a1sy|
UL: PO B! NP3 HI A {1 F1 1 giivyed gRm?
1. AICt a8

2. 51 4 5B T

3. AT 3R TgRd

4. T T4 gRA

Correct Answer :-

- o= wd g

7) T T A6 Gl o,

ARUT v w1 a1 ITEist |

TP TG, IR AR 4 3 0T U |
faeRTas & por weft &, Mfdg dar =)
AP F GRHOT UTRY, GARYT U @Rt |
YT YTt ST uRay, <fi arat avdt

HR e Farer |ig, Td doid! dre|
Wﬁﬁaaﬂ%ﬁﬁlﬂ?ﬁml



&1, 1 Hgd JurTd fad foa wg art|

AT 37 AT URY, Tex Syt A1s |

et 31wy R, et sHeTSi 31 dRA |

HRi 71 Y ARR 7R, fgast guit s

SIS U B! U 11 TS 911 a1 YR HT I« 9a13¢|

W= FARE Hl B v feral | Mide $1 e ma ge e
1. Mpd B

2. ORI P

3. §aIa- &1

4. GRET Bl

Correct Answer :-

8) WTH M ATHR ¥l oft,

AR aren 1A a1 IEiSh |

AT TG 91T AR (A 36 =01 U |
faieRTa & ot et &, Tiifde oftem )
ATHE H GRHVT UTRY, GARYT U @Rt |
YTg el AT T, <fi] et wwet
R gire FransR e, Td At qre|
faiewres # 97 =v1q, e gRedt aran|
&1, ST ved Ui fa fae g e
HINAT I GIHT URY, TeX S| A5 |
et 31 Uy E=or, St STHATSH /7 A Ri |
R I Y ARR AR, fRas) gun srefiRT|
SR U B U@ 11 U 14 a1dl U9 HT I& ga1sy|
TR: HARE A -4 & 5 31 3 A1) ugd HR w1 | fiem St aa 3t 32
1. Tcil TSt

2. WA GER

3. UidieRt Ugeh

4, Y TS

Correct Answer :-

9) WTH M ATHR @l oft,

Ry wren w1 =Ty TErSh |
WWWMWG‘O’WMI



fogRTa & o1 welt /, Mifdg ofter
B A GIAVT YR, GAROT 4T @R |
YT ATl AR ur], i arat w=edt
R gire FranaR We, Td dsidt qr|
fe=mas § 99 =19, Wi gRell are|
&1, 31 Hed quird foe g IRg et
TG I G0 Uy, UER Hg 95 |
el I WY ST, Sl SHATSH 37 iR
R 1 Y FRER AR, fRas) gun arefRy|
ST UL B UgH 1 U W11 a1 U= BT Ik 9a15¢|
R RIS Bt yrar-Relt i 22

1. YITfAfd yror g

2. ST IS H ISR BT g &

3. 3TH A BIS a1

4, B § Fad-gocdt &

Correct Answer :-

. BT YT B ISR BT e R

10) T BT IIHR 4T o,

AR YT aren 1A IR I@iSh |

AT TER 91T AR (A 36 =01 U |

faeRTas & por weft &, Mifde dar =)

AH F GRHVT UTRY, GARYT U @Rt |

YTT YTt SR o, i et =t

R PTe HanaR WR, Ta deidt qrer|

fieRTas & O W13, W= gRedt aram|

&1, ST ved Ui fa fae g e

HIIAT I G URY, U6 S| A5 |

et 1 gy Eor, St STHATSH /1 A Ri |

RT3 Y ARR AR, fRas) gon srefRT

SR U B U@ -1 U 14 a1al U9 $T I&R a1sy|
WR: HiRT AT 30U+ U FIT Ig B qTd B 81 82
1. T R A7

2. PUS-T

3. Y19 g Hfdaq

4. T 3R YT

Correct Answer :-



11) T B IH 4T o,

AR YT wTen w11 TR TEeh |

ATHR TER 91T A A 36 01 U |

faigTa & o et 7, Tiifde oftem )

AP § SRHVT UTRY, GARYT U] @t |

T WTelt SRR o, <] et at

R PTe HanaR We, Td duidl qrer|

faigRTa ® 99 9R1Q, T gRel A

S, a1 wew qunTd g fara g e

HIafaT I G0 UTR, UER $g 9rs |

et e Uy Ewor, St STHATSH /7 Ri |

R I Y FRER AR, fRas) gun erefiRy|

IUad Uil &1 U@ 18 IS 91H aTd YR $T I« garse|
U= WRT A 3194 US § HEl a1 T B 357 o B 82
1. $d-3d Hgal & ad

2. BRI & Mg o

3. dsdgWad

4. Asary

Correct Answer :-

.« S-S Heell &

12) T % 916 a1 o,

ARy wren w1 =Ty TS|

TP TG, a1 AR, 4 3 0T Uy |

fieRTas & oo wTeft &, Mifdg dar =)

AH F GRHOT UTRY, GARYT U @Rt |

YT YTt ST uRay, <fi arat avdt

AR e Farer dig, Td deid! qre|

fSeRTa & O =R, Mg gl are|

&, a1 e d qund fae fag wg et

HIIRAT I G UIRY, U6 S A5 |

et 7 UY GRHoT, At STHATSH /7 A Ri |

R I Y FRR AR, fRast gon sk

ST UL B! U 1 U W1 a1 U= $T Ik 98¢
URH: T Ga§-Gag URT AIdY 9763 $W & Hed W SR S df a1 gRm?



1. W & G B S
2. N1 AgAgH TN

3. QTATaRT YATRId R
4. Bd RGd IS

Correct Answer :-

. WP G FI S

13) T % 9I$HR a1 o,

Ry wren w1 =T TErSh |

ATHR TG, IR AR, Fd 3 0T U |

fieRTas & oot weft &, Mifdg dar =)

AP F GRHOT UTRY, GARYT U @Rt |

YT YTt ST uRey, <fi arat avdt

R YiTe HanaR AR, Td deidt arer|

feRTaa ® 99 =R, Aed gl are|

ST, &A1 Ued 9uTTd fa fae g e

HIRAT I G URY, TeX T A5 |

et 1 UY ERHOT, St STHATSH /7 o Ri |
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3. 3(fYh IRAfdD

4. BIAD

Correct Answer :-

. 3P aRdfd®

25) WIS BT TH AYHF FU TN g1 I FT o+ fife F ganm ot fr v w=fi+i snfaser 31 file & oo su=m
T® 93 TYE 9% Ugd U IU-ATH! &) fore) 1 geamd aagdl adlt § g3 <&, S sromevdl ud) & e welt wet | Sds F
IRUN® SfeITd ot & Sramar i e ot & @hr oft ITa & T UTed 99| UTew! Bt W/ dgH & A1 € dEd! Bt
TS g1 T | 3 AWD! B SMFUSTA 3R Feie a7f F TReor F rerdY el 3R A 3if¥res v g foraq @l 3@
AGP U A LAl & AR Teard B S T a8 I Wad A1 YT P A ST g1l g A 3R T @ B uga @
WA A1 1740 B fHTA TR IeA AT QRABTEA! Bt RITIAT & IUART @il $t uga F o 1A | fife 2envareh & &3 guri &
T 1Y ATHIET & 1A adtd] A Iu=r B faet gg™ iR g &1 F3 H Heg frelt | Ieeru & i i & $0 yasmia!
P Y U A 31 T fF U= Y T & fRare | fHeran wR 3 A 9gd YAIBT HHRET o JHar g

Sy=arat ® fRifya g siftres arafae gt <t ok gufne fayrgar & war & ot <t Su=am ved wwa urew smarh
A I & Ul Bt gFaT A Tar S 4TI SUSART A G 31 Thid B U B TSI & | ST A A Bt 39 a1 Bt
3rerrdt +ft &t o @ Irdwifare ufvdsr A ug & 3R Tl WR wai &Y 9 | ST SR U= & °iE] & Siia— | 379 Mg
P ATHATT B Ad A1 1836 7 AT 3P o1 Upfaw Tusd 7 ve ulier & yRmaifiee & $u A ueiiRia far man| uen
T gt A ofiR ol @ wRgR gt off| uRTarfee & wu A o [ A H WU 94T Ygar o o @t wig W wra A1 d



HE & A W D AR H MR H 3T TG B 3T DT 56l Hed 4| Ugd & gk & Illed & faudia, su=arai &
ST 91 AT Bt HET-t 181 gielt A afees aremmor a1 ard gielt <ff | St ot & gRiu & St g 3= gy g Al
TRl & U SR 718 WIS orft ot gadt ofk ATl o 2et Sitaw &t waway oft @St g3 ff | g Fi gis o
FHRIT AIYROT HoTgR 6t AR QT ATl

IUY e TR P UghR 19 D ¢ U $T IR Ta1s|

U: §70'S & YRR SHFIEITd ¥ & SATar SU=IN & 3R B UIod a2
1. frg et

2. 3ffcr 3= it

3. it ot

4. 3 a

Correct Answer :-

. 9 aeert

26) WIS BT T MYFHF FT ITURNT 31 I FT o+ fife A g ot fr v w=fi+i snfaser 1 file & oot su=m
TP 9 Hg aP Ugd UTdT | IUTH] $I e Y Yward Fagdl wat § g3 A, o srareedl wel # e} welt il S &
IRUN® SifeITd ot & sramar i e ot & @hr oft ITa & A UTew 99| UTSw! @t W/ dgH & A1 § AWd! Bt
et g Tt 3 dEel @I SfHerTa SR el ol & Haor F srmerrdl freht ofiv @ 3ifie wada gt R @t o
AWP U AW QAefl F AR TaTd HIA I T e F oA A1 Y P T SUATH T g1 A 3R e di Y uga |
g'wﬁv)l1740ﬁﬁm&waﬁﬁmﬁgﬁmﬂﬁaﬁ@mﬁmﬁ7ﬁaﬁu§aﬁaﬁﬁlfﬁﬁﬂéﬂq@vﬁﬁa@gm%
1Y ATY WTHTET & T Al A Iu=ard 31 {3t ggm 3R a0 w9 31 | uee el | Sarexvr & g i & 3 yamrs!
31 T g | 31 T fh IUURT Y e & fFare A fman R 3 A 959 GATHT HURT o GHdaT 21

ST # fafa g siftre arafas gt &t ok gufen fayeaa &1 e & ardt <t Su=amd ued 9wy ure s ST
| I & U] Bt gFaT & TaT1 ST 4TI SR A GRN &1 Thid H U &I TATe! &F | ST=ATH = ATl & 39 a1 Dl
3rerrdl +ft &Y o & Irdwifare ufvdsr # ug O 3R Pl UR ==l B 9P | TN SR YT & =iE] & Siia— 9§ 3199 Mg
P ATHATT B Ad Y1 1836 H AT TP o1 Upfaw Tuwd #) ve ulieT & yRIaife® & v A uepiiid far man| uen
T gt A ok ol @ wRgR gt off| uRTarfee & = u A 3mA & @R A WU 99T Igar o o) @t wig W wra A1
PEMI P AT Wi b aoTR A M V 3T AT & 3T FT SaoIR B A1 Ugd & SR & Aifey & faudia, Su=aral &
AT AT ATHIST BT HTHT 781 gt A afess ATUROT ARN B a1d it A | SAadT |t & gRI & SR g e & 3T ATl
SefiepRor & Ue 3R 73 IuhE ol A ot gt ok HorgRY SR Redt Sitaw &Y wawt oft @St g3 off | gre # s A
FHRI ATYRUT ToTgR g1 IR Qe AT

ITY TR Y Ugh 19 D ¢ U $T IR Tars|

W= fifer amvaioh | w5 JURT 3R ATHET & T aiw! & fraw uee fired
1. foept g SR g geH |

2. TH AP TRI

3. JIR 3R TR &

4. BUTS 3R Ju1g o

Correct Answer :-

. 9w oem SR g gem &

27) IS &1 THh NYHF T ITURNT 81 I &1 o+ fie A g o) f v w=fi+i snfassr 31 file & oo o=
TS 98 TYE 9% Ugd U IU=THl ) fore a1 geand aagdl Ot A g3 <&, S sroterdl udl # e welt et Sds F
IRUN® SifieTd ot & sramar i e ot & @hr oft ITI & A UTew 99| UISw! Bt W/ dgH & A1 § AWd! Bt
TS g T | S AWD! B TSI IR Feftsr a7t & T&or & STt fret 3R 3 Sif¥res v g foraq @l 3@
AWP U1 AW QAefl F AR TaTd HIA P T e W oA A1 Y P T SUATH 7 g1 A 3R e @i & uga |
gﬁ%&l1740ﬁﬁwﬁwaﬁmﬁmﬁmﬁwmaﬁu§aﬁmnﬁlfﬁﬁﬂéﬂﬂ@vﬁﬁv{{{uﬁr%
1Y ATY WTHTET & T Al A Iu=ard 31 fawt ggm 3R g 9 31 | ueg el | Sgrevr & g i & 3 yomrs!
P A U A 31 T fF U= Y T & fRre [ fHeran wR 3 A 9gd YAIBT HHET S Jhar g



Syt # fafaa gt siftre arafas it A ok gafen faywtaar ot diar 9 sidt 4t ST 9gd 999 ures St
| I & UL Bt gFa1 & TaT ST 4TI SUART A AR &1 Thid § U &1 TSI &F | ST = ATl Y 9 a1 Bt
3rerrd oft &t f 3 Irdwifae ufvdsr A ug O 3R weT uR Tl &% 9P | TR SR SU=aT & il & Sita= 9 379 Mg
P ATHATT B Ad Y1 1836 H AT (EP1 o1 Upfa® Ty ) ve ulieT & yRTaIfe® & o A UpIid far mar| uend
T et A 3R ol @ wRyR gielt off| uRTaTe® & wu d 3 T AR H WU 94T Igar AT o @R wig i HRa A1
PEMI P AT Wi P AR A T F 3T TS & 3T PT SaoIR B A A & SR &b Ay & fAudia, Su=aral #
ST 91 AT Bt HgT 781 gieft N afees aremor a1 ard gielt <ff | SsfrdY o) & gRiu & S g 3= gt g ATl
SHRIFIROT & T 3R 75 SHIE oift ff agl gudt ofk weigRl SR 25t Sfta= &1 wnwnt of @t g5 ff | g Ft gis &
AR ATYRUT HOTGR 81 AR QT AT

I IR P UgHR 19 D ¢ U $T IR Ta1s¢|
U=H: AT SRR IU=IT & TIRAT & Siia- I U ATY BT FT B ad A?
1. S gl

2. 9gd X
3. STT-YTT

4, HTHATT

Correct Answer :-

28) WIS &1 TH NYHF T TR 81 I HT o+ fie A g ot f v w=fi+i snfaswr 31 file & sror su=m
TS 98 TYE 9% Ugd U IU-TH! ) fRore 91 geand aagdl Ol A g5 <&, S sroterdl udl # we? welt et Sds F
IRURYS® ST o1 & 3raTar A aeg ot & @l W STl & 8 UIe® a9 | UTS @l Bt S T+ & A1 T AGDH| B
AT g T | S AWD! B TSI 3R Feftsr 7t & TR&or & Sere} firedt 3R 3 Sif¥res waa= g foraq @t | 3@
AGH AT A At A TR Tard B DI T aRE A Wad A1 YE I A ST g g & 3R T A @l uga @
g'\rsﬁvll1740ﬁﬁwﬁwaﬁmﬁmaﬁmﬁwﬁ1ﬁaﬁu§aﬁmm}|ﬁﬁﬂéﬂﬂ@vﬁﬁw—{{{uﬁr%
1Y ATY WTHTET & T a6l A Iu=ard 31 {9t ggm 3R a1 79 31 | ueg el | Sarexvr & g v & o yomrs!
P A U A 31 T fF U= Y He & fRre | fHwran wR 3 A 9gd YAIBT HHET S har g

=l ® fifya gl siftres areafae gt <t ok gafere fayweigan &1 imr d ot <t | Su=aTw ued 9wy urew Smar
A YU & Ul B gfrar & Tar SIrar ATl TR A AN Y Uhid B UgH B STeTdl &t SURIRT A @Rl Y 39 91 @)
Jrerd oft &t for 3 ardwife ufvd=r & ug 9d iR Herl W gul B TF | T SRR IUIRT & IRET & Siiad J a3y
B THATT X A A1 1836 T e 3P+ 3 fUrpfas v #1 ver ufier & urtaiRs & w0 & ue1fRa far man ) ubei
Ti gt A 3R ol @ wRgR gielt off| uRTarfe e & = u A 3 [ AR A WU 94T Igar AT ol @Rt wig W wRa A1
FHET & 3T Wie & AR A TR A 3T TTE b T BT FAR Hd A1 UgA & R & Aifecd & faudia, u=ural &
AT AT ATHISY B FTHT 781 gt A afess FTUROT AR 1 a1d gt 8| SFAadT |t & gRi & SR o & & gt ATl
Meieor A T 3R 75 IEfE ol ff adl gudt ok woigRY SiR 2re St )t wuwt o W g ff 1 g S Frs A
FHRIT AIYROT HoIgR 1 AR QT ATl

ITYe TR P UgHR 19 U ¢ U $T IR Tars|

U: IUATH Ugd GHY YIS ST & 1 geil SIrdl A1?
1. 3T R

2. 30 THER

3. Hiar am

4. U DI gfar

Correct Answer :-

. e @ g o

29) HIfe HT T AMYFAh =T IUATH 8 | ST &1 54 fife A g ot % ve u=ii-h snfaspr 21 file & R Su=amr
T 98 TYE 9% Ugd U IU=rH ) e 91 eand aagdl Ot A g3 <&, 5 sroterdl udl # e welt et S b
TRui® Sifiema ot & srarar i ww o & @ ot Su=ITEl & T uTe® §9 | UTow! B W& 984 & 1Y § aWD! i
TS gg @it SHY AWS! B fUSTd 3R Fefia ot & Teor J Srerrd} firedt ik 3 siftres wad gl foram &t erw



UGS (U1 AE el T ATdTe dgard B Bl T g A Wad A1 YT YT T ST W1l gid A 3R e aF &t uga |
A A1 1740 B fATA IR Ie A0 QRABTEAl Bt RITIT & IUART anil 3t uga F o1 1| fiife Tanvareh # &8 guri &
Y Y ATHAT & T2 a1 A ITUT Ft A8t Ig 3R g0 70 H | Hag frelt | Igrevur & e Wiy & $© ydT=re!
B Y g & 3 T fh IUURT Y e F fRATe | fHvrar iR 3 A 959 GATET HHRT o AHdaT 2|

Sy=arat ® fRifya g oiftres arafae it <t ok gafne fayeigar &1 i d ot <t Su=amer ved awa urew smarh
A I & Ul Bt gIaT & TaT1 ST 4TI SUSART A AR B1 Thid § U B TSI & | ST A ATl Y 39 a1 Bt
3rerrd +ft &t fp 3 Irdwifare ufvd<r A ug O iR weTl WR wai &Y 9P | TR SR U= & TiA & Sita= § 3179 Mg
P ATHATT B Ad A1 1836 T IR F3F o) Uwpfaw Tued 7 ve ulier & urTaifies & w0 A uetiRra fear man| uien
TR Belt off SR ol & WRR gielt off | YRTaTR® & = H o [ AN & T 947 Igar 31 R At wig it wRa 41 9
PEMT P ATA Wi P SaoTR A T F 3T TS & 3T PT SR B A1 U8 P SR & Alged & fAudia, Su=aral #
ST T AT B BT A1 gielt ot afp Aremor aen &Y ard gl ff | Sefiadt wdt & gRiu & Sirenfires 31 3% 81 gor Tl
IeIRieor & T 3R 78 IHiE oift ff agl gudt ofk woigRl SiR 25t Sftaw o guwt ot @t g5 ff | g St gis A
FHRIT ATYRYT HoTgR g1 AR QT AT

IU TR B UgHR A IR T Y= BT Sk Jarsu|

UT: UTSH] 61 HST 9¢ & 1Y g1 A o &1 9¢ 152
1. o

2. 3T

3, TR

4. 94

Correct Answer :-

30) IR &1 U@ MYAIF FU TR 81 IuU &1 7+ fife A g ol fr v w=fih snfaser 31 file & sror su=my
TS 98 TYE 9% Ugd UT| ST ) e 91 geand Tasdl dt A g3 &, St srotevdl udl # e welt et | Sds
IRURY® ST a7 & 3raTar A wer @it & @hT i STl & T8 UIe® S| UIS ! Bt S T & A1 T AGd B
AT g Tl | S AWD! B U 3R Fefte a7 & TR&oT A ST Fredt 3R I 3if¥res v gir foraq @t 3@
AP AT A Al H AR TATd B B T a6 | Wi A1 P YO A IUUTH HEA g A 3R T @l Y uga @
B A1 1740 B fHTA IR Ie= 10 QRASTEdl St RITIT & IUART ARl $t uga § o1 1| fiife Tanvaioh # &8 Guri &
T 1Y ATHIET & 78 adtd] A I Y [t 9gM iR g &9 1 H Heg frel | 3eevur & i i & $0 uehmia!
B A g & 31 T fp IUURT Y e F fRare [ frar R 3 A 959 GATET HURT o GHaT 2

Su=arat ® fafa g siftres arafas gidt B oiv sufene fyyasiaar t i & ot f IT=ary ved wwg ures S
¥ ST & U Pt AT B TAT ST AT SUATH A AR B Thid F U Bt ATl < SU=ATH A dRN B 59 91 Bt
3rerrdt +ff & fr 3 Trdwifae ufvawr # ug I& iR FeTl W =aaf &% T | dT SRR IUA & IR & Sita= | 3= Mg
P ATHHATT B Ad A1 1836 H I $F7 #1 w1 @) v ufier # urmafes & vu & ye1le fear man uere
T gt A SR el @ wRqR gl off | yRTafee & U # oM A Al qXIH 9471 Tgar o1 o @ wig W Fa 41 3
PEMI P 3T Wie PSSR A AT V 3T TWTE & 3T BT Aok BId U1 Tgd & SR & e F [Audia, Su=arat #
ST T ATHTST B Tt A1 geit <ft afes aremRor @bt 3t ard gt <ff | hwd adt & griu # eienfres 3 3 8 g1 4T
e & T 3R 718 I it <ff ot gudt SR woigR 3R <redt sfta ot awwt +ft @St g5 ff I g S SIS |
THIT ATYROT HeIgR &1 AR QT ATl

ITe T B UGHR A1 TB T UL $T Sk 15T

U: IR= A SUART {1 RO I TR Al St uga A gz A2
1. flle 316 T 81 & HRU

2. TR A §H & BRI

3. W19 BUTS & HRUT

4. T8N B & BRI

Correct Answer :-

. AN BN & BRI



Topic:- General English(L2GE)

1) Read the passage carefully and answer the question given below:

Sandalwood craft is a centuries-old craft nurtured by the Gudigar clan in the state of Karnataka. Way back, this
clan of people migrated from Goa to the Malnad region of Karnataka, where sandalwood was available in
abundance. These artisans were highly skilled in meticulously carving figurines. Sculpting an aesthetic figure
from a log of wood demands mastery through years of practice and perseverance of a craftsperson.

They also partook in building temples and palaces during the rule of Mysore Wadiyars. Eventually, they also
became proficient in crafting mantapas, basingas (headgear) during the wedding season, clay Ganesha idols at
the time of festival and several other utilities and decorative commodities. The scarce availability of
sandalwood has affected the artisans who can no longer rely on this craft for livelihood. Gudigars are gradually
venturing into other activities for a living.

What is forcing Gudigar’s to undertake other jobs?
1. Insufficient resources

2. Insufficient helpers

3. Lack of skill

4, Lack of interest

Correct Answer :-

« Insufficient resources

2) Read the passage carefully and answer the question given below:

Sandalwood craft is a centuries-old craft nurtured by the Gudigar clan in the state of Karnataka. Way back, this
clan of people migrated from Goa to the Malnad region of Karnataka, where sandalwood was available in
abundance. These artisans were highly skilled in meticulously carving figurines. Sculpting an aesthetic figure
from a log of wood demands mastery through years of practice and perseverance of a craftsperson.

They also partook in building temples and palaces during the rule of Mysore Wadiyars. Eventually, they also
became proficient in crafting mantapas, basingas (headgear) during the wedding season, clay Ganesha idols at
the time of festival and several other utilities and decorative commodities. The scarce availability of
sandalwood has affected the artisans who can no longer rely on this craft for livelihood. Gudigars are gradually
venturing into other activities for a living.

In the passage migrate means

1. They wandered from Goa to Karnataka

2. Relocating from Goa to Karnataka for work

3. Went on a short trip to Karnataka and came back

4. Went on a spiritual journey from Goa to Karnataka

Correct Answer :-

* Relocating from Goa to Karnataka for work

3) Read the passage carefully and answer the question given below:

Sandalwood craft is a centuries-old craft nurtured by the Gudigar clan in the state of Karnataka. Way back, this
clan of people migrated from Goa to the Malnad region of Karnataka, where sandalwood was available in



abundance. These artisans were highly skilled in meticulously carving figurines. Sculpting an aesthetic figure
from a log of wood demands mastery through years of practice and perseverance of a craftsperson.

They also partook in building temples and palaces during the rule of Mysore Wadiyars. Eventually, they also
became proficient in crafting mantapas, basingas (headgear) during the wedding season, clay Ganesha idols at
the time of festival and several other utilities and decorative commodities. The scarce availability of
sandalwood has affected the artisans who can no longer rely on this craft for livelihood. Gudigars are gradually
venturing into other activities for a living.

Who promoted sandalwood craft in Karnataka?
1. Government

2. Gudigar clan

3. Mysore Wadiyars

4. Gypsies of Goa

Correct Answer :-

e Gudigar clan

4) Read the passage carefully and answer the question given below:

Sandalwood craft is a centuries-old craft nurtured by the Gudigar clan in the state of Karnataka. Way back, this
clan of people migrated from Goa to the Malnad region of Karnataka, where sandalwood was available in
abundance. These artisans were highly skilled in meticulously carving figurines. Sculpting an aesthetic figure
from a log of wood demands mastery through years of practice and perseverance of a craftsperson.

They also partook in building temples and palaces during the rule of Mysore Wadiyars. Eventually, they also
became proficient in crafting mantapas, basingas (headgear) during the wedding season, clay Ganesha idols at
the time of festival and several other utilities and decorative commodities. The scarce availability of
sandalwood has affected the artisans who can no longer rely on this craft for livelihood. Gudigars are gradually
venturing into other activities for a living.

What did the Gudigars engage themselves in during the Wadiyar rule?
1. Selling their artefacts

2. Owning some of the temples and palaces

3. Becoming caretakers of the temples and palaces

4. Building palaces and temples

Correct Answer :-

o Building palaces and temples

5) Read the poem carefully and answer the question given below:

The Sun is an orange dinghy
sailing across a calm sea

it is a gold coin

dropped down a drain in Heaven
the Sun is a yellow beach ball
kicked high into the summer sky
it is a red thumb-print

on a sheet of pale blue paper

the Sun is a milk bottle's gold top
floating in a puddle



The speaker compares the sky to a:
1. milk bottle

2. pale blue paper

3. sea shore

4, water fall

Correct Answer :-

 pale blue paper

6) Read the poem carefully and answer the question given below:

The Sun is an orange dinghy
sailing across a calm sea

it is a gold coin

dropped down a drain in Heaven
the Sun is a yellow beach ball
kicked high into the summer sky
it is a red thumb-print

on a sheet of pale blue paper

the Sun is a milk bottle's gold top
floating in a puddle

The ‘sun’ in the poem is referred to as:
1. All of the above

2. A golden coin only

3. An orange life boat only

4. A yellow beach ball only

Correct Answer :-

o All of the above

7) Read the poem carefully and answer the question given below:

The Sun is an orange dinghy
sailing across a calm sea

it is a gold coin

dropped down a drain in Heaven
the Sun is a yellow beach ball
kicked high into the summer sky
it is a red thumb-print

on a sheet of pale blue paper

the Sun is a milk bottle's gold top
floating in a puddle

In the poem, the sky is .
1. clear

2. windy



3. cloudy

4. stormy

Correct Answer :-
e clear
8) Read the poem carefully and answer the question given below:

The Sun is an orange dinghy
sailing across a calm sea

it is a gold coin

dropped down a drain in Heaven
the Sun is a yellow beach ball
kicked high into the summer sky
it is a red thumb-print

on a sheet of pale blue paper

the Sun is a milk bottle's gold top
floating in a puddle

In this line “The sun is a yellow beach ball” which literary device has been used by the speaker?
1. Simile

2. Personification

3. Assonance

4, Alliteration

Correct Answer :-
* Personification

9) Read the sentence carefully and choose the option that has an error in it:

Sitting under an umbrella, Bob was startled when a gust of wind suddenly carried it away.
1. No error

2. Sitting under an umbrella,

3. a gust of wind carried it away.

4. Bob was startled when

Correct Answer :-

» a gust of wind carried it away.

10) Fill in the blank with the correct option in the given sentence:

One must not have any other diver-- while driving.
1. --sify

2. --sions



3. --ted

4. --sification
Correct Answer :-
e --sions

11) Fill in the blank with the correct option in the given sentence:

People hold ______ views on the issue of arranged marriages.
1. opposites

2. opposition

3. opposing

4. opponent

Correct Answer :-

e opposing

12) Fill in the blank with the most appropriate preposition in the given sentence.
They jumped__ the water from their boat.

1. on

2.1in

3. beside

4, into

Correct Answer :-

13) Choose the appropriate tenses to fill in the blanks in the given sentence:

The patient afraid that he swine flu, but the doctor assured him that he from only mild
fever.

1. was, had, was suffering
2. did, have, will suffer
3. am, have, was suffered

4, will, have, are suffered

Correct Answer :-

* was, had, was suffering



Choose the right tag:

Raju can swim well, ?
1.isn't he

2. can he

3. can't he

4, doesn't he

Correct Answer :-
e can't he

15) Choose the option that substitutes the given phrase appropriately.

A building where an audience sits
1. Auditorium
2. Acquarium
3. Sanatorium

4, Stadium

Correct Answer :-
e Auditorium

16) Change the given statement to indirect speech.
“Are you lost, my child?”, asked a soft voice behind me.
1. A soft voice from behind asked me if I was lost.

2. A soft voice said to me are you lost child.

3. A soft voice asked If I am lost.

4, A soft voice behind me asked if I was lost.

Correct Answer :-
* A soft voice behind me asked if I was lost.

17) Choose the appropriate prepositions for the given sentence:

I usually donate food the orphans festivals.

1. to, during
2. for, onto

3. with, at

4. of, by



Correct Answer :-
e to, during

18) Choose the appropriate conjunction for the given sentence:

The weather was fine______ we decided to go out for a long walk.
1. and

2. as

3. but

4, because

Correct Answer :-

e and

19) Choose the appropriate antonym for the highlighted word in the given sentence.
The dour villagers glared silently at the tourists.

1. Morose

2. Attractive

3. Hapless

4, Cheery

Correct Answer :-
e Cheery

20) Choose the appropriate option that rewrites the given sentence in its passive voice.

He consulted a number of magazines, books, websites and other reference materials to prepare for his
examination.

1. A number of magazines, books, websites and other reference materials are consulted by him to prepare for his
examination.

2. A number of magazines, books, websites and other reference materials consulted him to prepare for his examination.

3. A number of magazines, books, websites and other reference materials were consulted by him to prepare for his
examination.

4. A number of magazines, books, websites and other reference materials had consulted by him to prepare for his
examination.

Correct Answer :-

* A number of magazines, books, websites and other reference materials were consulted by him to prepare for his
examination.

21) Choose the appropriate synonym for the highlighted word in the given sentence.



The group deliberated for an hour before reaching a decision.
1. Voted

2. Appealed

3. Agreed

4, Discussed

Correct Answer :-

* Discussed

22) Choose the suitable word to complete the given sentence.

When you do not agree with someone, you --agree.
1. anti--

2. dis--

3. pre--

4. contra--

Correct Answer :-
o dis--

23) Choose appropriate articles for the given sentence:

_ studentsreached ___ top of mountain by noon.
1. The, the, the

2. The, a, no article required

3. No article required, the, a

4. No article required, a, the

Correct Answer :-
* The, the, the

24) Choose an appropriate modal for the given sentence:

We respect our constitution.
1. might
2. must

3. would



4, could

Correct Answer :-

e must

25) Choose the correct option to fill in the blank in the given sentence.
The two teams greeted before the toss took place.

1. one another

2. all

3. themselves

4, each other

Correct Answer :-

» cach other

26) Choose the most appropriate determiner in the given sentence.
of the schools would suit me.

1. Either

2. Education

3. Every

4. Each

Correct Answer :-

o Either

27) Choose the option that best explains the highlighted expression:
We are going round in circles. I wish you'd come up with a new idea.
1. discuss something without making any progress

2. talk in a roundabout manner

3. make great progress

4, move about in circles

Correct Answer :-

o discuss something without making any progress

28) Choose the option that best explains the highlighted expression:
The children’s behavior has gone beyond a joke this time.

1. rather boring

2. rather interesting



3. rather humorous
4. rather annoying

Correct Answer :-

* rather annoying

29) Choose the option that best transforms the sentence into its Indirect form:

The teacher said to the boy, “shut the door.”
1. The teacher asked to the boy to shut the door.
2. The teacher asked the boy that to shut the door.
3. The teacher asked the boy to shut the door.

4. The teacher said the boy to shut the door.

Correct Answer :-

o The teacher asked the boy to shut the door.

30) Which of the following options best combines the given two sentences?

I was tired of walking. I wanted to take rest.

1. Wanting to rest, [ was tired of walking.
2. Being tired of walking, | wanted to take rest.
3. I being tired of walking, I took rest.

4. As I was tired, I was wanting to rest.

Correct Answer :-

« Being tired of walking, I wanted to take rest.

Topic:- Science (SCI)

1) The relative density of a substance is 13.6 and its volume is 20 cm3. What is its mass? /
forelt ueTd &1 AU TTd 13.6 & 3R BT MG 20 THI3 B | BT GoqH fHa-T 22
1.272g / UH

2.2.72¢g / IH

3.27.2¢ / UMW

4.0.06g / T

Correct Answer :-

o 272¢ / UH



2)
The current—voltage graph for two conductors ‘P’ and ‘Q" are shown below. Select the correct

statement from the following options. /

& gares P 3R Q' F e Rege aes ama de e e ) Seateiaa
faFrodr & Har FuT FT Ta9 FII

Current Q

Voltage

1. For the same value of voltage, the current through the conductor Q is more than the current through the conductor P. /

ﬁ%wm%ﬁ,ﬁa{gﬂﬁﬁwmm Q ¥ IR ToRdl 8, YA p ¥ ToRA dTalt faggq ¥ ifis
Bl g |

2. The resistance of the conductor P is equal to the resistance of the conductor Q. /

FATA® P BT WeRIY JaTad Q & feRiY & IHH 5|

3. The resistance of the conductor P is greater than the resistance of the conductor Q. /
AT P P ARIY GaTerd Q F RRY § 3ifie 71

4. The resistance of the conductor P is less than the resistance of the conductor Q. /
FATAD P BT TRy FaTdsd Q & UfaRy ¥ HH g

Correct Answer :-

« The resistance of the conductor P is less than the resistance of the conductor Q. /
AT P BT UfRIY e Q & Uy § 4 B

3) What are the food requirements of dairy animals? /
SU U3 P W ATIRIAHATY T §2
1. Cattle need balanced rations containing all nutrients in proportionate amount. /
TRt &t Sfera A & it Uives deal aTa Tgferd TR B TRl gt g |
2. Cattle require appropriate amount of food to sustain life needs. /
TR B St B SIS ATl Bl G B & forT HieH Bt SUged HET &1 SagdhdT gidl ol
3. Cattle are fed with plenty of green grass as well as dried fodder. /

AR B 3ifere g U o Ty g qar =R o Ry S ]

4. Cattle feed includes roughage, which is largely fibre and concentrates which are low in fibre but contains high
level of proteins and other nutrients. /

AR & Hie § HieT IR, S e U J IRER 81 34T UR-3MER T WIgeR $HH gidl § A 3ad
I TR F WICH Td 30 UIYe d g1d gl



Correct Answer :-

« Cattle feed includes roughage, which is largely fibre and concentrates which are low in fibre but contains high
level of proteins and other nutrients. /

AR & isH | Hiel IRT, St AT0% ©U 9 WRIER 81 aU Ix]-3TER o8 BIgeR &4 gidl § dfd- 398
I TR & N Td 3 UIYs I 81 & |

4) The cracks inside a metal block can be detected with the help of:/

T TP & SATAND IR] B TSHIT & fHFIBT UaT T o1 gPhal 8:
1. Visible light / €Y UDIR[

2. Infrasonic sound / 3[d¥g g

3. Audible sound / ¥ &@f

4. Ultra sound / TRYd @A

Correct Answer :-

» Ultra sound / U g

5) At the top of the mountain the atmospheric pressure is: /

TeTs & Y W, araravoiiy gare = SR gaT @:

1. Less than the pressure at the sea level / W?‘WWWQW

2. Equal to the pressure at the sea level / WWWW%W

3. Equal to zero / Q]?I%W

4. Greater than the pressure at the sea level / dH% d¢l UX qdld T 3HfYPH

Correct Answer :-

« Less than the pressure at the sea level / JH% dd UX EEICRER

6) Haemophilia and colour blindness are diseases. /
TN 3R qurferar AT

1. acquired / IutfSid

2. communicable / TshTHD

3. genetic disorders / GW]%H'TR

4. non communicable / HhTHD

Correct Answer :-

+ genetic disorders / GWW



[T Ut srcuftres Rftaa Wvw @ fRufa o oft Shfaa vear @, =ife:
1. Thick layer of fat under skin / 9T & =iTd a1 1 HIC! TR & BRI

2. Abundant fish / TR H&al

3. Oversize / faRITETR T

4. Ice covered land / It H b1 SHIA

Correct Answer :-

« Thick layer of fat under skin / e & A 9T 1 HId URd & BRI

8) Convert: 15m/s into km/h /
15m/s Y km/h § YR BT |
1. 54km/h / 54 fhaHte=/der

2. 27km/h / 27 Toraidie dar

3. 18km/h / 18 faraiidie/dar

4. 36km/h / 36 fbalHICX/EeT

Correct Answer :-

« 54km/h /54 fhaide/der

9) Which of the following is not advisable for controlling the noise pollution? /

fFafafaa & 3w @i~ uguer ) fRifia w33 & e sfra T 82

1. The TV and the music systems should be run at low volume. /
At 3R Tifid 9 (Rrew) &) &7 3mas & @ el

2. The least number of trees should be planted around the buildings./
YA & IRI 3R HH Y HH US TE ST 1T

3. Automobile horns should be minimized at the residential area./
ST & H SHICHIeTSd g1 ! HH Y $HH fon o1 =fgul

4. Industrial units should be set up away from the residential area./
SNENIE IHTAT B AR &5 J X R faan 1 anfg |

Correct Answer :-

o The least number of trees should be planted around the buildings./

Ha-l & IRI 3R HH J HH US TT o IR

10) For a normal eye, the far point and near point are and respectively./

TS A= A7 & fore, geey =@ g ok fAave =f¥ fig womn: 3R ]




1. infinite,, 25cm / GIT'iT‘T, 25 THT
2. infinite , zero / GFiT‘[, iG]

3. 45cm 25 cm / 45 94T, 25 I
4.25 cm, 10 cm / 25 A, 10 YA

Correct Answer :-

« infinite , 25 cm / 39d, 25 Rapi]

11) Alice gets 100 out of 100 in her Math test to get the first rank always. This is an

example of motivation /Emaﬁuwammaﬂﬁé?m, fora
UTe # AT 100 F A 100 3 FAed 71 787 TRUT 1 TS SGTeRVT & |
1. Extrinsic / A&l

2. power-based / Qfed-red

3. fear-based / HI-SATYTR

4. Competitive / gfaant

Correct Answer :-

. Extrinsic / dlg&l

12) A wire when connected to 220V main supply has power dissipation ‘P;’. Now the wire is cut into two

equal pieces and combined in parallel and then it is connected to the same supply. The power dissipation in
this case is ‘P,’. Find Py : P,./

TP IR B 919 220V &7 Y A SiST ST @ 99 ST fIgyq 2edy -p,’ a1 21 3@ dR b1 &t
IR THS! | BTET AT 8 3R JHMIGR FU A igh 39 U MYfd A st T g1 59 fRufa
fagyq sraeay <p,’ ST R P, : P, A BH

1.2:1
2.3:1
3.1:2

4.1:4

Correct Answer :-

13) To save maximum energy it is advisable to use: /

ARHaH St ga™ & T fFa®T ITFRT H3=11 Ifea saran S 3:
1. CFL lamps in our house / sﬂﬁwﬁméu
2. Filament lamps in our house / AR W I flhamc L] (dd éttr)



3. Fluorescent lamps in our house / Etlﬁ WH Qﬁ?ﬂ?{ g
4, LED lamps in our house / Eﬂzlﬁ WA Qﬂég ?rq

Correct Answer :-

o LED lamps in our house / E'Ilﬁ' WH Qﬂg@pf ﬁtr

14) A solution contains 15 mL of alcohol and 85 mL of water. Calculate the volume by volume percentage
of solution. /

Tw fAea #, 85 mL T 3R 15 mL Srepigd gidT ¢ | faeram1 & wrm ufa=ra & 7 3t 1o &8
1.22.4%

2. 15%

3. 17.6%

4. 85%

Correct Answer :-

o« 15%

15) Identify the correct electronic configuration of calcium /
SR F T8 sawNS =g &) ugaq #¥1
1.2,8,8,2

2.2,8,5

3.2,8,8,1

4,2,8,7

Correct Answer :-

16) The number of oxygen atoms present in 1 mole of Na,CO5. 10H,0 /
N2,CO3. 10H,0 & T ATV H SATRIS IRATU[SH &1 T=IT HINE 3
1. 13.02 x 10% oxygen atom.':/ 13.02 X 1023 mm

2 6.022 X 102 oxygen am'm.'s/ 6.022 X 1023 &mmm

5 783X 10**oxygen atoms | 3y 124 sifeRfSr TRAT]

4 463 X 10% oxygen ato‘m.'s/4.63 X 1022 3fTeRfIeH TRHTY
Correct Answer :-

24 T
. 783X 10 oxygen atoms ;5 g3y 1024 3ifqefierT TRAT



17) The process used to separate bacteria from water is /

i & 9T Y 3rerT HIA B ufpar g
1. Decantation / FRROT
2. Crystallisation / foheeciiepRur

3. Evaporation / A&

4. Filtration / fAde

Correct Answer :-

« Filtration / g

18) The pressure acting on a given area is 125N/m2.If the force applied is 2500N then the area on which
the force applied is : /

ﬁigﬁqwaawmmuswmz%l Tfe ST TRT S 2500N & o & O UR S S A g
d86:

1. 200m?2 / 200912
2.2m2 /2 Hi2
3.20m?2 /20 H2

4. 20cm? / 20 912

Correct Answer :-

. 20m?2 /20 ®2

19) About 5¢g of a yellow coloured non-metallic solid (X) is taken and heated. It produces an irritating
smelling gas (Y). The gas (Y) is collected in a Gas jar and is shaken well with a little water when colourless
Sulphurous acid (Z) is formed. What is the solid (X) and the gas (Y)? /

i W1 & 1 3T (X) BT THT 5 914 Foram wirar @ 8nR 1 fovan wiran 81 a8 99 vy arefl v i
(Y) SAT BT 2 | T (V) B TP T IR & U f5ar Sra1 & 3R 4rST Ui STae o Srar & a9
T TRRY TRYS () 31 fAafor giar 81 319 (x) Td 9 (v) | g2

1.X = S, &Y =503
2.X = P4&Y = Py0s
3.X = Sg&Y =50,
4.X = S4&Y = SO3

Correct Answer :-

20) Out of the following given materials, which one will you prefer to make the handle of an electric
kettle? /



Frafefaa & 1 gt 9 A, 3y 5o v gafdcs S $T 8ed a9H1 WRig B2
1. Tungsten / TIRC

2. Bakelite / SBTSC

3. Copper / PR

4. Aluminium / Tegffaw
Correct Answer :-

. Bakelite / Shdagc

21) A weak acid among the following is: /

4 ve gda s &:

1. Acetic acid / Qﬁlﬁ 3T

2. Hydrochloric acid / ET'{@W ST
3. Nitric acid / ATg{¢dh 3T

4. Sulphuric acid / W ST

Correct Answer :-

» Acetic acid / m 3T

22) Type of the soil is decided by the /

el &1 UPR A4 gR1 99 fHar sirar 3

1. Amount of humus in it / IgH Wlg CAREEN

2. Average size of the soil particles / Hal & HUN BT 3T MHR
3. Porosity of the soil. / Hal T IRUTHIR

4. Amount of microorganisms in it / 3IqH ﬁ&ﬂﬁﬁéﬁ CARIE]]

Correct Answer :-

« Average size of the soil particles / Tl & HUN BT 3N HR

23) Element ‘P’ has atomic number 19. The incorrect statement among the following is: /
< P’ B} URHTY] I=AT 19 B | Fafafea 9 maq sU 3:

1. The valency of the element is 1/ T I TASTDT | %’I

2. Element ‘P’ is a non-metal. / dcd ‘P’ Udh HH@%I

3. Element ‘P’ belongs to group I/ dcd 'P' HHg I & 3faifd Grﬂ?lT%I

4. Element ‘P’ belongs to 4™ period / dcd <P EIREICEE C’rl'l?lT%I

Correct Answer :-



« Element ‘P’ is a non-metal. / dcd ‘P’ U G{U@%I

24) What is the percentage of Carbon and Lead in Lead pencil, which we use for writing, drawing etc.? /

%ﬁgﬁﬁaﬁ%mﬁm,WSWﬁ%ﬁmWaﬂ%%wﬁWaﬁwﬁ%aﬁmmﬁ

1. 50% Carbon & 50% Lead. / 50% W Qa 50% =
2. 100% Carbon & 0% Lead. / 100% T8 Td 0% |
3. 0% Carbon & 100% Lead / 0% ?ﬂa‘qqa 100% 22|
4.75% Carbon & 25% Lead. / 75% T8 Td 25% |

Correct Answer :-

¢ 100% Carbon & 0% Lead. / 100% WI_GYT'[QH 0% XA=ATI

25) Which one of the following factors affects the quality of honey produced? /

fFrafafaa 7 @ fod sRE | g I Yurasr gHTfad gidt 82

1. Number of worker bees which collect the nectar / G T HbG FhHG] B dTd Holgl HW D G=AT
2. None of the above / m f[ @[ ﬁé qﬁ

3. Queen bee and Drones / I ITEFIH@ IR TR qw

4. Flowers available to the bees for nectar / FW & HPG %ﬂ U Y& U

Correct Answer :-

+ Flowers available to the bees for nectar / UW RGN %ﬂ U Y UR

26) Which physical quantity has the unit N/kg? /
fora wifas I &t 3315 N/kg 32

1. Velocity / a7

2. Acceleration / XU

3. Speed / dTel

4. Force / dd

Correct Answer :-

« Acceleration / @RI

27) Two of the components of ecosystem mentioned below are abiotic. Identify them.
Inorganic nutrients, herbivores, decomposers, climatic factors, forests /

T Sfcafaa uifRufaest da & &t ues sreiidid ¢1 S ugda-ig
ST IS a7, AMBIERT, STICHRY, TAARA! HRP, T



1. Inorganic nutrients and forests / 3{9ld U9 dcd 3R o
2. Decomposers and climatic factors / TIEHRT 3R TAarTdl FRS
3. Decomposers and inorganic nutrients / 3TUCHRY 3R 3/ TINe I

4. Climatic factors and inorganic nutrients / STeaTId! PRSP 3R 3oid UNS dd

Correct Answer :-

« Climatic factors and inorganic nutrients / SITaRId! R 3R 3fold UIN® ded

28) One among the substances given below can easily exist in all the 3 states of matter by varying its
temperature. Identify that substance. /

= fo e uerdf & A ve uerd & arunm= o afe b-gd far o, 9t i srameii # wRear @
T 8 9o dr 21 39 Uerd & ugarH &Y |

1. Table salt. / HTHI THDH
2. Diamond. / _EﬂT[

3. Helium gas. ) e g
4. Water. / Slcl

Correct Answer :-

« Water. / SId1

29) is used for making the pencil lead. /

Uf_rd offs 791 & forg BT IUANT fHaT ST 2|
1. Graphite / DLIE

2. Diamond / éDRT
3. Silica / RiferanT
4. Calcium / m

Correct Answer :-

o Graphite / ﬁuv‘ls‘c'

30) To move an uncharged body from its state of rest , we have to apply : /

Pt srmTafRIa axg &Y SuS foavw &1 fRufar | Frerem & forg, g+ = ghm:
1. A balanced external force / Ueb Sdferd Tl §a

2. An unbalanced electrostatic force / Tdh 3RIqferd fRR 3ggd §d

3. An unbalanced external force / Th Gm'g’ﬁﬁ EIBEG]
4. A balanced frictional force / T qferd a¥ur

Correct Answer :-



» An unbalanced external force / U Gm’g’l?ﬁ EICKEH]

31) During the extraction of Iron from Haematite, which substance acts as Flux in the Blast furnace, which removes
the acidic Silica contaminating the Ore particles? /

FTETSE | dig & Fepdur & R, B9 A1 yerd e B # 3/aws HUit Y giid H ard sretig faferet &t
T 918 Wi & U § S Bl 82

1. P,O5
2.C.
3. CaCl,

4, CaO

Correct Answer :-

« CaO

32) National Science Day is celebrated on in India. / HRd s | ?T@'q fagm=
feaw S AT ST B |

1. February 28 /28 HRaR]
2.May1/1%%
3.June 5 /59

4.March 7 /7 99

Correct Answer :-

« February 28 /28 THIaR!

33) Evaluation is a ./ W Th %I

1. process unrelated to instructional objectives / &lﬂ%ﬂm 3%'52'&[ o for sresferd ufdsan
2. continuous process / Hdd ufeean

3. Non-quantitative process / RATES Ul

4. Non-qualitative process / ﬁT-‘IUTW ufehar

Correct Answer :-

« continuous process / ddd ufdean

34) The educational programs of NCERT are telecasted on: / @?ﬂgiﬂﬂﬂ & !?r&rfﬁw
STAHHI DI W TR fHar Srar |

1. Gyan Darshan channel / T4 aQi:l SEI

2. Doordarshan National channel / QQQQ(H ERENICETY



3. Doordarshan Bharti / §€33i'—‘| YRl
4. eGyankosh / 3-JTIY

Correct Answer :-

« Gyan Darshan channel / T4 aQi:l SEI

35) Which of the following statements is not true for a constructivist teacher? / ﬁ'ﬁﬁ'@ﬁ

A | B T HY, TP IgA1a1d) Rrere & fore I 781 82
1. His/her students work mainly in groups / 3% BT HY =0 | ﬂ'ﬂff T & Hd %I
2. His/her role is rooted in negotiation. / LA “{&IW ArdyTg o I-ﬁl%a %I

3. He/she assesses the students through testing by checking for correct responses. / A& ﬂ%bf

gfafsrarsii & g S e TRIef0T & A1ead o B &1 3Hidad Hd & |
4. He/she values the interest of students. / dg CIEIKGT %ﬁ Cal Hed aﬁ %I

Correct Answer :-

. He/she assesses the students through testing by checking for correct responses. / dg w

yfaferaraei & o ST B URI&0T & ATeIH T BT &l b pd & |

36) «“Assessment of learning” does not include: / "3IfETH BT fiwa" =t H zmfere T8t

8

1. Evidence based assessment/ 1T TR el
2. Criteria based assessment/ AMGS SUTRA fiha
3. Assessment of outcomes / TRUTH] BT 3fichar

4. Mapping students’ progress/ eI PV EIFICHRCHIR]

Correct Answer :-

« Mapping students’ progress/ EIEICEIEIEIEARCHIR]

37) Which of the following statements is false about the collaborative learning

approach? / Rufafad # ¥ #19 91 $Y7 g TP RATH TRHI & IR A Ted 82
1. Social skills of learner are developed. /ﬁr&nzﬁm AT Or?l-‘llﬂ famiRd Eﬁ?ﬂ %I

2. Emotional skills of learner are developed. / @T&ﬂ ff BT UTTTHD Obal-‘ilﬂ, ICEAR a?ﬂ % |

3. Every student participates pro-actively in the task. / [ S, Db ok @ FihadT I HIT Tl

gl
4. Dominance of the teacher is reduced. / fR1e/ &1 UHIET HH Eﬁ STl %I

Correct Answer :-



« Every student participates pro-actively in the task. / S[ILD RIERCE pE U;\Pf gfchgar ¥ YFT ol

gl

38) One of the following statements is true for the process of Roasting carried out during the
extraction of metals from their ores. Identify the true statement. /

Frafafed & & e Sy el @ urgsil & Freptur & R e e yolq 91 uftear & forg T 21
39 9 $YF B UgaH |

1. Roasting is used for Carbonate ores. / YOI BT I PHIEHC DI B ﬁfq fopar Srdr %I

2. Roasting is not used for Sulphide ores. / ol BT ITANT YIRS 3D b %I'Q .—.@3[ fooar Smar %I
3. The ore is heated in the presence of air. / 3{IIH A Bedl &I Iufufa & 7 fosar Smar %I

4. The ore is heated in the absence of air. / 3D DI Bdl G| Gﬂq@ﬁ o e foar ST %I

Correct Answer :-

» The ore is heated in the presence of air. / TIIH A Bedl &1 Iufufa & 7 fosar Sar %I

39) If the speed of sound is 340 m/s and the echo is returned in 3.5s , then the distance of the
reflecting rock from the sound source is: /

wl%qaawﬁr;ﬁwﬁrsmlﬁa/ﬁ%%aﬁ?&s@%ﬁwﬁrwﬁmamﬁ%,a‘rwﬁ@aaﬁwﬁrwﬁamﬁmﬁ
IgH B gl &

1. 595m / 595 TR
2.1190m / 1190 HeR
3. 170m / 170HteR
4.955m /955 Hiex

Correct Answer :-

+ 595m /595 TR

40) The unit “hertz” is the SI unit of the physical quantity: /
rgao e ® @ for ifae v ) aFe (Twens) 39TE 8

1. Sound / @

2. Frequency / Gﬂqﬁf

3. Period / 3{dfY

4, Amplitude / TIH

Correct Answer :-

o Frequency / Gﬂqﬁf

41) A train decreases its speed from 144 km/h to 72 km/h in 4s. The acceleration of the train is: /

TP 3 Ul T 4 A5T A 144 /e @ 72 B/ Uer 9o w9 A R, 39 BT @wur 8-



1. -5 m/s?

2.5 m/s?

3. 10m/s2

4. -10m/s?
Correct Answer :-
e -5m/s?

42) A ray of light is incident on the glass slab at an angle of incidence 30°, the angle of emergence will
be:/

THT Bt T fohor M F1 T Ut uR 30° & YA H1vT W ATl gl 8, DT 35H fig o1 w1 ghm:
1. 60°
2. 45°
3.30°
4.15°

Correct Answer :-

- 30°

43) The interval between the melting point of ice and the boiling point of water in Celsius scale is divided into: /
AfRTag Tha # U F YD 3R I & A & 9 siarTa 399 fAuToa gar g:

1. 180 equal parts / 180 CRERRESS]|

2. 273 equal parts / 273 CRERRESSI]

3. 100 equal parts / 100 TR few

4. 120 equal parts / 120 IR few

Correct Answer :-
« 100 equal parts / 100 &RTaR et

44) Use of agriculture farming system,with minimum or no use of chemicals,use of maximum input of
manure,farmwastes and bioagents is known as /

AW 1 31 I & v @) HiY goned S1 v, wWig & iftiean fFaw, F SRy iR 99 R @1
SUIRT HEdTar 8

1. Genetic manipulation. / &naa@m%@rw
2. Organic farming. /@Hw

3. Biofertilizer farming. / mﬁ

4. Biochemical farming. /@W?ﬁ

Correct Answer :-



« Organic farming. /@a@fﬁ

45) CANCELLED

We feel more comfortable in light coloured cloths in summer than dark coloured cloths because: /

T # ge T F FUST A gH RIP ARMSHS HEYH Hd & T T8 TN HUS &

1. Light coloured cloths absorbs more heat radiaﬁon/ﬁ@%ﬁlﬂ@_, 37 3o fafdRur B Sra=nid Hd
g

2. Light coloured cloths absorbs less heat radiation / Scfa’) TN H ¢M%, 1 39 fafeeor &t &la?zﬁiﬁam?r?ﬂ

3. Dark coloured cloths radiate more heat radiation /T@‘\f T %EFCI% WWWUT, fafeRa e %I

4. Light coloured cloths absorbs more moisture / Beb T & m 3fH TH BT TM™T FA %I

Correct Answer :-

« Light coloured cloths absorbs less heat radiation / Scfab JNFH ¢H%, HH & fafsur ) Wﬁamﬁ%
46) CANCELLED

What will happen if a small sheet of paper is tightly wound over at one end of a long iron rod and the same
end is placed over a candle flame? /

T NI 3R BRTS B TP BI] ATGY, TP od Al B B8 & TP DR TR AP 1Y &I Sl & 3
I B & GO DR W TH HHExI B & B FAeATh 16T o1l 82

1. Only some portions of the paper will burn off. /
HId BT S $© o et S |

2. The paper will not burn off since iron is a good conductor. /
BRI g1 STl AN SR Th 3] fawiarss 3|

3. The paper will burn off since it is an insulator. /
BTST Sfel STQT oifch g feriaTe e & |

4. The flame of the candle will put off. /

e Bl g7 STe |

Correct Answer :-

« The paper will not burn off since iron is a good conductor. /

BT T8} STl NP TR Teh 3731 fa¥args gl

47) CANCELLED

Which group of organisms are not constituents of a food chain ?/
Sfial &1 B & TYg W T & 4P 81 82

1. Frog, snake, grass, eagle, grass hopper / ﬁW, ?ﬁlq, Y1y, %ﬁa, féé'[



2. Lion, rabbit, grass, wolf/ ‘\ﬁT, @?‘“Ql, Yy, ﬂ'%'cﬂ
3. Snake, grass, wolf, tiger / ﬂTq, Uy, Q%TIT, oy
4. Man, plankton, fish, grass hopper / HI-d, Widd, m, léél

Correct Answer :-

- Snake, grass, wolf, tiger / iy, U, Q'%'QT, dTy

48) CANCELLED

.1 TSR T # I av et &1

Liquids in spherical containers should be placed

@l ST 918 ¢ |

1. near a water source in the lab / TINTRITAT H Ut &b Uh i & U
2. near the window / m & gHIg

3.in dark / S{ERH

4.in open shelves / Q?ﬁ Sferariar o

Correct Answer :-

. in dark / 3fR H

49) CANCELLED

Aforce of 10N is acting on the body and the body displaces through 5m normal to the direction

of application of the force as shown in the given figure. Find the work done. /

10N T U o, Ueh folehrd 9 HRRA § 3R a8 U v &9 & 3678R, 9o & o] glel &1 fgan
A 5 AT AT T § fATANET gl 81 fohcer wrf g A i

l F=10N

I e

5=5m

1.-501J
2.251)
3.501J

4.0J

Correct Answer :-



50) Combustible materials can be disposed off through / ?{B"'-I'Qﬁﬁ wﬁ%&%mwﬂﬁ fAraerd s
Hd §

1. Composting / HIORET
2. Recycling / ARAh U
3. Dumping / T

4. Incineration / HEHIT

Correct Answer :-

« Incineration / HIBHIOT

51) The anhydride of H3PO4 is: /
H3PO, FT TIEISIISS &

1. PCl4

2. PCl,

3. PHj

4. P05

Correct Answer :-

. P,0s

52) Among the following ecosystems, man made ecosystem is /
Frafafea uitfRufos @ & |, arma i oifRufest @ 8:

1. Garden / &t

2. Ponds / dIdild

3. Forests / SiTel
4. Lakes / 3@

Correct Answer :-

« Garden / ST

53) Vibro-tactile aids are used for students. / fas)-¢aeTSd HES BT ITUNT
ol & fore fear smar g1

1. mentally ill / AFRI® 0 ¥ SHR
2. dumb / T[T
3. deaf / ¥8Y

4. blind / Y



Correct Answer :-

. deaf /98X

54) The statement “the electrical resistance of a metal increases with temperature” is a: /

FY: “UTg BT fagya Uiy, ATUHH S QY TS 3I"TH gl
1. Concept / SAYRU

2. Theory / Rrgid

3. Principle / o

4. Hypothesis / UR&bedT

Correct Answer :-

. Principle / a9

55) Herbarium is a dry preservation of . ] gaRaH P TS Y[CH TIEUT ¢

1. fishes / HSTCrAl

2. bird feathers / G&fl & Ul
3. herbs / GK“.-p[ q%th

4, plants / tﬁ@[

Correct Answer :-

. plants / tﬁ?ﬁ

56) Which one of the following is not an advantage of the Heuristic method of teaching? /

fFrafafaa & @ #19 Rieor @1 ggRfes &t «1 e @ty 78 32

1. Being a fast process, it can help to cover the prescribed syllabus in a specific time period. / U

o UfehdT 81 & Td, T8 U (MiSd w0y 3fafey & FufiRd dreashd &1 {1 - J el
CREICe i

2. Tt helps in developing creativity in the learners /I8 RI&fal # TemTeTemar fawRid w1 |
Heg PRl g

3. The students develop the power of observation. / JE H 3faaid ot Wfad fawfd gl %I

4. Self-activity is used for gaining knowledge. / I UTW B & foT W-fafdfd &1 IgaRT
fopar ST g

Correct Answer :-

. Being a fast process, it can help to cover the prescribed syllabus in a specific time period. / Udh

oot UfehdT 81F & ATd, T8 U [MYd 0 3afe & fAuia uredshd &1 IR & | Jerd]
IR DA G|




57) Which of the following types of question should be used by a science teacher to assess
the ability of a student to summarize and integrate the ideas? / fafsfaad 9 fPaTeR &
Y BT IUANT, T fagm Rigre g1 fAaRY &) W8y 3R talpd B3 8 TH BT B &Har 1
Sipa- B & fore fovar s afge?

1. Selection type objective question / I Gl ?Rﬂﬁg UH
2. Supply type objective question / &rrcﬂ%f Gl aﬂﬁg UH
3. Short answer type question / €1 31X CIGEE
4. Long answer type question / e IR are Uy

Correct Answer :-

« Long answer type question / e IR AT Uy

58) Which of the following is a biotic factor?/

Frafafea & 9 o= a1 sifde R &7
1. Microbes /ﬁTITEﬂ

2. water / SIcl

3. Soil / ii@'
4. Air /dIY
Correct Answer :-

. Microbes/il‘ 7]

59) Perseverance is an attribute that: / €¢dl Th ICEILGI % o
1. Allows repeated opportunities for success / b dl & oY IR-IR 3fa¥R <ot gl
2. Gives success in single attempt / Tch ﬁ T H 9%ddm a?ﬁ % |

3. Leads to continuous success / RO gwadl &t @Ta\?ﬁﬂ%l
4. Makes one narrow minded towards work / PTH & Ufa oo iof I Afda st % |

Correct Answer :-

. Allows repeated opportunities for success / dh cdl & OTE IR-GR 3R <ol %I

60) Which of the following is NOT true of performance-based assessments? / ﬁ'ﬁﬁ'@ﬁ A

P USRH-3MYTRA Sfiha BT I T8l &2

1. It measures students ability to apply the knowledge learnt / g BE GRT AR T I DI oTl]
HR B &HAT DI AU G|

2. Tt is simple and non-authentic / T8 T 3R TR-UHIOME g



3. It is open-ended and time-bound / TG GaAT-3id (W—Q\%S) 3R IIT-dS B
4. It is process/product oriented/ g yfehar/ Jdlq 3HY % |

Correct Answer :-

« It is simple and non-authentic / g AT 3%? ﬁ?—qj:mﬁ@ %I



